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1. AMNUUILUUTBINWINAL 1,000 kg/m® (1.94 slug/ft’)
2. AAnnaliasanunaitindesreslan g = 9.81 m/s® (32.2 ft/s”)

3. ANAULSIENIA P, = 101.325 kPa
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fia 1) veclnaafiavilediiminuulan 1,350 b ussalunuzLLRanRs 18 1 WinanTusned
N.) AU AHUUIWLY (density, slug/t), pminAnng (specific weight, Io/t%), 1B3ums
AN (specific volume, ft/slug) WATAMNEINRNE (specific gravity) sasradivatiuulan
1)) yntired e uuncennafinausalintge 2.0 ms? At (weight, 1b)
vutinanmay (specific weight, Ib/ft)), WazAINNENIUNTE (specific gravity) 109199 InaLLANIAT]

(Il conversion ﬁuﬁ’m 1 ft = 0.3048 m)



do7 2.) winsuawalugjindsufidanniaiia U = 3 m/s agrendedutediva 2 1iia fsgy vanlid

nsloainl (Non-slipping condition) a9¥n
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N.) AHNIALRAAUANTENN AR ANULIY LAZHITIANUANS
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oyt g 4 4 , peps 1 2
9.) WA IR REUTTUARDUN WINUEUTILHAWA 1 m
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anslua 2 T s
pz 0.2 Pa. 0.02m
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auldannuiasiaausu lundae kPa(gage) TnelfinmineasaniAanteludedladaaun
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dofi 4) Usegiwingdivdendnia aum 4 m x 4 m @ananqauyu O Agtl daradnewilaynaniy
AIAARIARDIIUIBNUATANAENIANTATINMUIMUL 7840 kg/m’® flsiAmihvtinaedtszn uazuss
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dn 5) Uszgun AB Tugil Adnwouziilu 1/4 1emaanszueniiens 10 m uaziliall R = 6 m AanIwA
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